(A1) (@ =) = (¥ = x) = (¢ = X))

(A2) (&) — ¢

(A3) (9&t)) = (Y&o)

(Ad) (p&(p — 1)) = (V&(¥ — ¢))

(A5) (¢ = (¥ = x)) = ((9&tp) — x)

(A6) ((p&rp) = x) = (¢ = (¥ = X))

(A7) ((¢ = ¥) = x) = (¥ = &) = x) = x)
(A8) 0 — ¢

Implication

(1) p— (0= p)
2) (p—= (o0 —=7)) = (0= (p—7))

(3) p—p

Strong Conjunction

4) (p&(p —0)) > o

6) (p—=0) = ((p&e1) = (0&T))

(4)

(5) p— (0 = (p&o))

(6)

(7) (p = 0)&(T = v) = ((p&T) = (0&w))

Weak Conjunction

(8) (p&a) = (pAo)

9) (p—=a)AN(p—=7)) = (p— (o AT))

Negation

(10)
(11)
(12) p—= (mp = 0)
(13)

(p = (0&=0)) = —p 1



